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- Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on the correct

. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — Il only. If you mark your response at any

. Rough Work is to be done in the end of this booklet.
. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

. In case of any discrepancy in the English and Guijarati versions of questions, English version will be taken as final.
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. B YR g As@s el uAadl W (100) Ul wide B, v ¥ uil W2 B,
- udlanell aguicl WA yny@st suuad wad, yad viy () Rz eae doud YAYREAsL Vel wA REBAAUD QA oo udlag

Instructions for the Candidates

- Write your Roll Number in the space provided on the top of this page.
- This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.
. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the

booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty booklets
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet ¢
Number should be entered on this Test Booklet.

response against each item.
Example : (3> @ (© (@ where (B) is the correct response.

place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

allotted for the relevant entries, which may disclose your identity; or use abusive Ianguage or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disqualification.

with you outside the Examination Hall. You are however, aliowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on conclusion of examination.
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HOME SCIENCE
Paper - I

1. The key enzyme in fatty acid synthesis is

(A) Enoyl reductase

(B) Acetyl transacyclase
(C) Acetyl-CoA carboxylase
(D) Phosphofructokinase

2. The viscosity of a liquid increases due to
the presence of

(A) Suspended particles
(B) Soluble particles
(C) Small sized particles

(D) Large sized particles

3. How does the presence of buffers affect
the rate of browning reaction ?

(A) decreases
(B) increases

)
(C) does not alter
(D)

D) cannot predict

4. The concentration of sugar syrup is
measured in food industry using which
of the following equipments ?

(A) Polarimeter
(B) Calorimeter
(C) Colorimeter
(D) Spectrophotometer

1. 3 ARis A=Avei Yo Rexsigh D,
(A) AolAd As52%
(B) Afufea giAlsdx
(C) ARRea-Au st6llGRAR

(D) g1RQIgA81a%

2. udiglefl Roo8dl Sl of) sivdla
SRV gdl 8,

(A) ubPia seh
(B) sicy sl
(C) olloll SEell SN

(D) et seott s

3. oigdell s1vdl aniGleis ulifBaion
g0 3d19ld AR S3 B?

4. viia Geonai uisell Uil
Aisgdl SA A€l GuAd) 2
AYIHi 219 82

(A) Nadlafle:
(B) scidlafle:
(C) s1ddlaflzR
(D) usgifAfleR
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5.

Which of the following confectionery
contains dispersed air ?

(A) Fudge

(B) Marshmallow
(C) Fondant

(D) Caramel

. Which of the following is the colorant

used in butter ?
(A) Annatto
(B) Malachite yellow
(C) Congored

(D) Erythrosine

. In which year FSSAI was implemented ?

(A) 2006
(B) 2012
(C) 2011
(D) 2010

. Which shape kitchen is useful for small

canteens, kiosks, tea and coffee shops ?

(A) Rectangular kitchen
(B) Parallel kitchen

(C) L-shaped kitchen
(D) Square kitchen

5. oflAoitaiiefl s so3sAcAi RviAAd
&UI 81y B 7

(A) &%

(B) a#iAd)
(C) uiRidfl
(D) ¥RRe

6. AVRIAI oflAatiatiefl SA 31 guAA B 7

(A) ioolid}
(B) acisige Jlo

(C) sl did
(D) RNl

7. FSSAI avai uadai 21y &q?
(A) 2006
(B) 2012
(C) 2011

(D) 2010

8. dloil 3cdlal, (BA1IS, Ul Vid

519l My a2 saAl iske NG
Guadfl B 7

(A) doiiiRy NG
(B) AatiaR A

(C) Ad iisig] g
(D) A WA
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9.

10.

11.

12.

Which of the following types of research
studies would be planned to test the
assumption of cause-effect relationship
between variables ?

(A) Applied research
(B) Hypothesis-testing research
(C) Basic research

(D) Variable-testing research

Which is the mineral that play a role in blood
pressure regulation as a vasodilator ?

(A) Calcium
(B) Sodium
(C) Potassium
(

D) Magnesium

About half of our plate should contain

(A) Cereals and pulses
(B) Cereals

(C) Vegetables and fruits
(

D) Grains and nuts

The condition “Folate Trap” arises due to

(A) Deficiency of Folic Acid

(B) Deficiency of Methyl Cobalamine
(C) Deficiency of Riboflavin

(D) Excess of Folic Acid

10.

12.

9. UA) 9ol SREI VAR 2Aoiadd] GrRRIA
usiAdl #12 oflAatiie sA1 usRl

ALMeol BoARNG W1NYol s3]
idg) 7

(A) Aweuds Aud

(B) ydaren-udlziei 2deNdd
(C) yoeid Mol

(D) ua uRaiel Aol

qiRNBA2R ddl3 ods VW [StuaHi
s eivag vileiy 5§ B 7

(A) Blegraa
(B) =B

(C) WM2Riun
(D) A2aRa

1. 238l Q2ai aL10101 HSEN old B4

NYA
(A) ol dad S8

(B) olI%¥

(C) qMsei® ial sol)
(D) ioliw id ofela

Ralt ‘Ddz W — srA 4l B,
(A) 95 Afusoll Gery

(B) Banga sehicianidael Gery
(C) RolsARyatoll Griy

(D) fAMus Afusa) agy usd)
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13.

14.

15.

16.

The main component of Poshan Abhiyan
where Anganwadi workers and
supervisors are equipped with smart
phones with a software is

(A) 1ICDS Common Application Server
(B) ICDS Computer Aided Software

(C) ICDS Common Application Software
(D) 1CDS Computer Application Software

What is the caloric content of 1ml of F100
formula ?

(A) 1 Kcal

(B) 100 Kcal
(C) 10 Kcal
(D) 11 Kcal

What is the link between Government
schemes and Community under NRHM
called ?

(A) ASHA

(B) Medical Officer
(C) Anganwadi Worker
(

D) Supervisor

Mahila Arogya Samiti is functional under

(A) NUHM
(B) NRHM
(C) JSSK
(D) RCH

13.

14.

15.

16.

Welel iiAlole] A ©28 ¥R
AdIRIYIS] SIRISA Vial PuRUIY%R
Mg2A A1 2418 Notell A¥Y B.

(A) ICDS dtdiod AR30t AR
(B) ICDS Slawyez W3s :Agedr
(C) ICDS sl Afcideua AgedR

(D) ICDS 8322 ARaBgia Ag2A2

Ag100 Qe 1 Adlafl 334
A3 gf 87

(A) 1 Kcal
(B) 100 Kcal
(C) 10 Kcal
(D) 11 Kcal

NRHM 85 212513] A1volil ial
AHER GAA 881 — .

(A) A

B) doflefl 1lusid)
(C) uidweusl stels?

(D) YudigxR

albal w2y Akl (139

sif2d 8.

(A) NUHM
(B) NRHM
(C) JSSK
(D) RCH

SR L D S
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17.

18.

19.

Which is the non-nutritional sweetener
isolated from a plant ?

(A) Sucralose

(B) Aspartame

(C) Stevia

(D) Saccharin

Whichis the type of fatty acid being present

in walnut which has a cardioprotective
effect ?

(A) Omega 6 Fatty Acids
(B) Omega 7 Fatty Acids
(C) Omega 3 Fatty Acids

(D) Omega 9 Fatty Acids

Which of the following sentence is used
in directive counselling ?

(A) You have to stop eating outside
food

(B) You can restrict yourself from outside
food

(C) You should not consume outside
food

(D) lts good if you can stop eating outside
food

17. Sisdiell a9 udg Rio-QINeRsd
dleaiz 53 87

(A) Yslcl
(B) gy
(C) &=
(D) Ashai

vvieal 541 uUsRaN 38 s
&l 3 ¥ sIBaNsdly vz gd B2

18.

(A) 2011 6 38 ARus
(B) 2031 7 34 ARis
(C) 2021 3 38 Alusy
(D) 20321 9 34 Alusy

19. olAaiaiel 53 aisy feiZas

WwiHLiHi qugy 87

(A) d¥R olgig vidleg ¢l 53¢ usd

(B) dd daifl wida cigiRell vilrisell
ulbcifud sél us) &

(C) d¥IR oigRell WRISe Adol
o SY ANYA

(D) ¥ ad oigRg viidig ot 53 ASA
d A3 B



20. Cross sectional study design is used for | 20. 512 fueidNla veA1d (5xsidd
HIZ guA B?

(A) Population studies (A) gdl HeaR
(B) Clinical trials B) alasa grad
(C) Descriptive studies (C) dvlalicis HeAR
(D) Normative studies (D) AdicA A
21. Degree of = (Average molecular | 21. oft 52l _ =(\NfYaire A3 U1
weight of Polymer) + (Molecular weight qoat) + (YoRidldd sAe] BRI Y¥ol
of the repeating unit in the polymer) Waai)
(A) Crystallisation (A) 2sfesisel
(B) Polymerisation (B) iaiue23u0l
(C) Xanthation (C) Bohatat
(D) Regeneration (D) st40Yel

22. How many twists do “low twist yarns” | 22. ufd afle 3z “ @ efre adu’ gl 87
have per meter ?

(A) 240 - 260 (A) *¥0-R650

(B) 270 - 900 (B) ?90-¢00
(C) Up to 230

(D) More than 900

(C) 230 ytll
(D) ¢oo &l am?

23, knife is used for the finest of | 2> m"i‘g é*:j':; !gg?ﬂgmwjaa
shapes to be cut very accurately. .
(A) Straight knife (A) AMeN i)
(B) Round knife (B) o d]
(C) Drill knife (C) Ba &d
(D) dos &l

(D) Band knife

o S e P
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24.

25.

26.

27.

Fusing have become an integral part of
(A) Clothing construction

(B) Clothing enhancement

(C) Clothing elimination

(D) Clothing defect

The most absorbent of all cellulosic fibre
is

(A) Rayon
(B) Cotton
(C) Linen

(D) Acetate

Which is used to distinguish between
amorphous and crystalline region in fibre ?

(A) Compound microscope
(B) X-ray diffraction
(C) Light microscopy

(D) Scanning electron microscopy

Women'’s fashion of 19" century did not
include, which of the following ?

(A) Bustle

(B) Bouffant
(C) Ruffled
(D) Straight

24.

25.

26.

27.

5YM51 Vol iMoot Gid1 Glofl 21N B2
(A) sdiefl>1 sogs2Ua

(B) sA1151 RoidouNe
(C) sAell51 Adlaflagier
(D) sa)eflor slgse

adiR Aeydifis sidorai Ael
qg dMNer 2

(A) et
(B) AycuB
(C) dlotot
(D) uAM2e

S161341 vIsIElel el 25281y U 4w
agida 541 HI2 Ulell GUAD! Uiy B?

(A) §24IBs AHIYSRSIY

(B) dis2a-2 Rade

(C) usiu AganWE

(D) ¢aAsal Bleiol sgsleN

1l A€l ol Alciioll 3Ructai
oflAeliell AHIAA Ad) «iefl,

(A) suc
(B) oige
(C) =365
(D) 22
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28. Which of the following is not a printing | 28. 211 aiefl s¢ Rifar ul@f «efl ?

method ?

(A) Block | (A) odls

(B) Roller (B) AdR

(C) Screen (C) 28l

(D) Tie and dye (D) 211 did SIA

29. Bureau of Indian Standard certified Eco | 29. o3 il dlosua 2ads tar AEs1s

mark logo is oflA aie s g8 s B 7
(A) Brass pot (A) G 2

(B) Copper pot (B) 8y 2

(C) Jute pot (C) ¥ e

(D) Earthern pot (D) ida \l2

30. The most inexpensive women’s apparel | 30. Aefl Al Albardan g 8¢

can be sourced in following category s2adlati el usiy B 7
(A) Bridge (A) @s%

(B) Budget (B) “is¥e

(C) Designer (C) S1BIeoi

(D) Moderate (D) s

31. Which of these measurements is not | 31. Riaafivia iy aigll su1 Yeol G152 el
essential for pattern draft developed by 3esydeia AR w3l «efl 7
calculations ?

) Time allowances A) 213 vaRilRAIA

B) Actual body size measurements B) Asguid AR Aigsell AN

(A (
( (
(C) Ease allowances (C) &% drRik{R
( (D

D) Sewing allowances ) AG vcrAlRAA
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32.

33.

34.

35.

refers to the relative size and scale
of the various elements in a design.

(A) Ratio

(B) Pattern

(C) Proportion

(D) Border and field

Social influences on buying behaviour is
not inclusive of

(A) Co-worker
(B) Customers
(C) Family

(D) Friends

One of the following is the fancy weave
which creates small geometric patterns
(A) Double cloth

(B) Jacquard weave
(C) Dobby weave

(

D) Pile weave

Kinkhab textiles from Uttar Pradesh is a
best known form of

(A) Mashru
(B) Double cloth
(C) Ikkat

(D) Brocade

32. Sxigell daclaiel A3 a Wdiall
AeclHioflA avld 2Mvididi 419 8.
(A) 3NN
(B) Qedl
(C) MUl
(D) olis? ia gles

wildloll adat u2 A13Ms udleided
AA132 YA ol

33.

(A) e siris?
(B) 2185

(C) &
(D) =N

oflAciaiiefl s 3oAl g2 B T ollall
ollids V2d ololid &

34.

(A) seld SIuS
(B) ¥s4UIS qene
(C) Siefl iy
(D) wigd dly

BcrRuE ol Filal g EloiIn
222196 ol usR 8

35.

(A) a3
(B) soid sAl¥
(C) Uss2
(D) ol¥s



%

36.

37.

38.

39.

Clean and dry viscose rayon is
attacked by moulds and mildew.

(A) Always
(C) Invariably

(B) Generally
(D) Rarely

In presence of hydrocellulose, zinc chloride
in cellulose gives,

(A) Blue-violet
(B) Blue-red

(C) Bluish-green
(D) Yellowish-blue

Designer men’s wear manufacturers
create merchandise for

(A) Discount catalogs
(B) Discount stores
(C) Speciality shops
(D) Other designers

Mr. X is implementing an intervention
program to train self help group workers,
so that they in-turn implement it to
women of the community. He wants to
study the impact of this intervention on
women'’s confidence and efficacy. What
type of research is he undertaking ?

(A) Correlational study
(B) Experimental research
(C) Survey research

(D) Library research

36.

37.

38.

39.

s sARIgs A0 B

A ial Y5l RSIA et v
Ales o Masy gaa) 52 B,
(A) &dan (B) Aaied

(C) uissA dd (D) safud

slgQAcydxdl s1vdlai, Acyasai

(A) aieofl-adll

(B) diedfl-clid

(C) ot usdl - il
(D) Mlouat usel - ¢

Y3loll Slxigolk dall Geuies)
HAosSIYs Gloliddle] SRRI B

(A) 5281802 3211
(B) RRsiBoz 221

(C) A1) gSlal
(D) oflwl o Slsighl2

Aeg eV Yua sRisdiRNa #i2 L X

s aidla sidsH vaaai ¥4 w0 B,
Fefl A2 Aaivell oidolad aicdla il
A Bl HYo2AoUal SRISH ofl 2142 ciBoilall

Vil wa §UNAI YR ¢ RAUR B

dd Maskl sdl @ B Al sA
uSRe Musiy 87

(A) s1ldgiaia 28]
(B) dsAudlAcz {4t
(C) uad M

(D) arigdl
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40.

41,

42,

Identify which one of the following is a
one tailed hypothesis ?

(A) Mordant A is better than Mordant B

(B) Thereis adifference inthe rub fastness
of natural vs polyester fibres

(C) Older working women'’s clothing
preferences

(D) There is a gender difference in
attitude toward fashion

The term not related to system’s
approach is

(A) Micro Environment
(B) Macro Environment
(C) Metro Environment

(D) Meso Environment

In the management process, “controlling”
step consists one of the following

(A) Listing of job

(B) Energizing, checking and adjusting

(C) Foreseeing the problems

(D) Checking the amount of resources
left after the entire process is over

40.

41,

42.

ofld aviai Hiel sy dd 2des
EMICTEEE R

A) Wsez B Sai Wrsez A
uBaidl 8

B) Miglis (dyra) Mzea Q@A
ERlell 0 g2 dgldd B

(C) Garraiefl s131 519 AlBARN
susi uRieall

(D) %20t M ARsye wf1- Y3
dsidd 8

uendl e (Rizea 2ndu)
Hi ¥ oe (230) ol aruami
iiadl 4 8

(A) g8 AlodiAAoe

(B) a5 VoA
(C) A WourRRAc
(D) AA AoqiAAe2

gye UlbAloll ‘lRixRI1 dcissiai
(SeqRia WMAA )i [raaiftiftia wiell
s As uHIfivs B2

(A) sidefl dtaefl (R422121)

(B) Gecrildld s2q (Aciwighdsar), avig
(A1), 2o5a s (AAs¥E1)

(C) eilusuai Gell &oi Al
yaaell «edl

(D) wlban 2Ayel a1 udl oddl
AA1add] usiiell sdl.
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43.

44,

45.

46.

Amongst “Mundell’s classes of change”
and modified by “Gross and Crandall’,
the class | is

(A) Changes in production sequence
(B) Changes in raw material

(C) Changes in tools and equipments

(D) Changes in hand and body motion

Rain water harvesting means

(A) harvesting of crops grown using only
rains falling on that field

(B) growing crops in a pond

(C) collection of rain water to recharge
ground water or to store in a tank

(D) allowing rain water to flow in the right
direction of sewage

Satisfactions derived from the goods and
services produced by the family and used
by its members is known as

(A) Psychic income
(B) Directincome

(C) Indirect income
(D) Money income

A statement indicating standards to be
achieved for a particular job is referred
to as

(A) Job description
(B) Job summary
(C) Job specification
(D) Job analysis

43.

44,

45.

46.

“ai3a” s YRud ial ‘AN ud 3sd’
%Rl YURA ‘sl g Aox”

(st 3 3§R)e uBdl sairRm B
(A) drq cleliddiall coll sHHi FER

(o ot Miss2A Alsdon)

(B) siu1l Al F8R (Jo¥ ol
A adk¥lad)

(C) Algal id GuUsNAI ciEdly
(D) &1 ol ARl Afalig ai S

Wa Qizz sdRE (ukiiE] wiellel
21218) o) 18] B

(A) §5d WdrAi usdl uiefle) Gyl
sdl uis Gausq)

(B) daigai udl sl

(C) «vaflotati wieflad RuIF s AR
AUy 2idlari A s AR
apteatl uieflell A& 5A)

(D) a21€] vieflad 2w war g

géololl A0 4R ciolldd d U iy
dg¥l al AdiAldl Gu el Aadi
ddna  sgdid B.

(A) 21dks doisa (AHdRis h1us)
(B) siuse goisH (McA2 14S)

(C) doisiidsz doisd (A2 i14s)
(D) #ofl goisa (oti2NSRA 145)

81y AN sifAi viRi HIVES) o

ML 521 Hi2o] Sl [otdaiftiftict
Higll s sgarRy B

(A) ot [BsRaiol
(B) o ]
(C) el AWRiuM32ua

(D) «Not Aatiftaliy
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47. National Consumer Day in India is

48.

49.

celebrated on
(A) 24" December
(B) 14™ April
(C) 14" November

(D) 8"March

In India consumer organizations working

for the consumer protection are
(A) C.G.S.L
(B) L.EE.E.D.
(C) N.LLO.H.

(D) U.G.C.

Assertion (A) : Entrepreneurs are born

and not made.

Reason (R) : Entrepreneurs are also
made by the financial and promotional
support given by the Government.

Codes:

(A) (A) is correct but (R) is wrong
(B) (A) is wrong, (R) is also wrong
(C) (A) is wrong (R) is correct

(D) (A) is correct and (R) is correct

47. WA Guelsdl aA eirdai 53 Ry
Gvadiai 21d 87

(A) 24 [5J361R
(B) 14 g
(C) 14 ctdaciR
(D) 8 AR

GIRANI 2165 AU ¥ 21650l
Y2l Hi2 siRka B d

48.

(A) A.2.2x.208
(B) a.¢.¢.9l.

(C) lot.A1g. 2. AU
(D) .29l

49. uftsii (A):Gehal Alelis A1SIAT i

AIUSA yoH%¥Id BA B.

sREI(R): ABR sRI Aidl xRS
ASI”Y 2id MicRAlgol gkl G
AieRkis A8 olofl U3 8.

Codes :

(A) (A) vi3 B uid (R)v¢ B
(B) (A)w¢ B ,(R) ugL vl¢ d
(C) (A) v 85(R)wi d

(D) (A) vi3 8 uia (R)vi3 B
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50.

51.

52.

In a random sampling procedure

(A) every unit with in the universe of the
study has equal chance of being
included as sample

(B) the unit is included in the study as
per certain criteria decided by the
researcher

(C) from one unit the other unit is
contacted and selected as sample

(D) the researcher includes any one unit
as sample

To increase the visual height of a room
which of the following is to be used in the
curtain ?

(A) Zigzag lines
(B) Horizontal lines
(C) Curved lines

(D) Vertical lines

While selecting any colour scheme for a
room, consider the following

(A) the next room’s function
(B) natural light entering in the room
(C) the money required

(D) the brand of the colour

50.

51.

52.

Josd Aultis ugla Hi

(A) 2iaMewot Aozl 211qall 25 ©esa
yaieoNai wiadl Aaiell s vl
ASAdl B B

(B) 8253 MusdlA ossl s oA
oA Nusifai A s

21 8

(C) Ns aesell oflvi €esel AUS
sfla dsud afl3 w:ie s

Ad B
(D) Mesdl Siguer gzsa Fud
af3 Aadu sé U3 B

sl Al Gl geRul
A2 useldi oflRAdnaiel s¢ did]
el GUA2 541 ANEYA ?

(A) 218l-va0fl dd]

(B) 28l did)

(C) disl ysl dldl
(D) Gefl didl

22510fl 2291 A=A ¥olt aiss] s2d]
quid ofldeil Aiefl s¢f clieid
o €lal Avg ?

(A) oy diol ARSI of §1Y
(B) 2ilsi i adi YAusial
(C) ottt ofl ¥3RAId

(D) 1 o dis



3

53. An architect is planning a residence

55.

56.

in Vadodara. The orientation of master
bedroom would be best on whicp side ?

(A) South-West
(B) North-West
(C) South-East
(D) North-East

. The bathroom for old age people should

have the following features

i. different leveled floor for wet and dry
area.

ii. toilet seat having 30" height.
iii. proximity to bedroom.

iv. emergency alarm,.

v. flooring tiles with matt finish.
vi. dark blue coloured wall.

Codes :
(A) i, ii, iii (B) ii, iii, iv
(C) iii, iv, v (D) iv, v, vi

Greenbuilding certification can be obtained
from the following organisation

(A) CSRI

(B) NIOSH

(C) CGslI

(D) LEED

Bureau of Energy Efficiency (BEE),
Government of India gives which rating
to the appliances/equipments ?

(A) Percentage

(B) Alphabet
(C) Brown or Green Dot

(D) Star

53. s wMsz ySle2 i As a2 o

54.

55.

56.

ARl 58 WA D W22 As3H AR
53y 2NRe2ttat YA BA?

(A) efe-uPuy

(B) Gdr-uPua

(C) efer-yd

(D) Bdr-yd

glg ol iz i oflA aldl Agdd
adl AgR
i. oflatt ual Yot [Qretl? W WA sHMI-
Afl ua ofl2fl ella

ii. 30”ofl Guig aif dade Wle
iil. Ydt ot s &l owéls]
V. garvodl 2anpi(sdsdl wiail)

V. 2 Bl 208 o 2ige
vi. 81 el 1 ol daia

Codes :

(A) i, ii, iii (B) ii, iii, iv
(C) iiiy iv, v (D) v, v, vi
2flot Rieslo 4813210 oflD

avid e %I Aad] Asy B
(A) ALA.2R.2001

(B) Vet el 2. 749U
(C) A.o.3R4.21¢

(D) RNa.d.4.9(ds)

oY) g Aa AR (BEE)
ol 28R o) GusaH idid Gy
sl o 53y W U 37

(A) esiarfl( urzizr )

(B) aci(zuezidz)

(C) s wmual dllg 2ug
(i1Get 3 oflet SN2)

(D) 2er
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57.

58.

59.

Climatic factors that affect the worker’s
body with in the house are as follows
i. Air quality
ii. Air humidity
iii. Surface texture
iv. Sound in the background
v. Room temperature

Codes :
(A) i, i, iii, iv (B) ii, iii, iv, v
(C) i,ii, iv, v (D) i, iii, iv, v

Assertion (A) : Ergonomics is defined
as “fitting man to the machine”.

Reason (R) : Poor relationship
between work, worker and workplace
reduces the stress of the worker.

Codes :

(A) (A) is correct, but (R) is wrong
(B) Both (A) and (R) are wrong
(C) Both (A) and (R) are correct
(D) (A) is wrong, but (R) is correct

Points to be considered while arranging
furniture in any room are as follows.

Select the correct list.
i. Circulation.

ii. Strength of furniture.

iii. Proportion.

iv. Activities to be carried out.
v. Needs of the family.

vi. Cost of furniture.

Codes:
(A) i, iii, iv, v (B) i, iii, iv, v
(C) i, ii, iv, vi (D) iii, iv, v, vi

57. €2 ofl 2ie2 S SR Alkd ol
AR U oflAell RGN AR 83 B
i. &4l ofl dqerc
ii. &dioll A
iii. AuIdle] 22AUR
iv. yeseid i ary
v. ARSI o diviel

Codes :
(A) i, ii, iii, iv (B) ii, iii, iv, v
(C) i, ii, iv, v (D) i, iii, iv, v

58. ulusti(A): A3Nell (H52Aofl yPoiy B

“cafkd o dx AR oig QA s’
siReI(R): 513, sdl wal s sl

Wlet gAell WRIG 2Aciel sa all
2% o A 58l 2 B.

Codes :

(A) (A)u3 uig(R) ¢ 8
(B) (A) 1 (R) cia vizi 8
(C) (A) a (R) cia viv1 B
(D) (A) v uig (R)u3 8

59. S1YURi 33 Ai gl ofl AMNsaell
sl quid_ ediotati Avidlofl Glicid)
s¢ 8 d «wend

i. AWYAA

ii. §20flu2 ofl Hevoydl
(TR 1] {E]

iv. sl 51 sWioll B d
v. §éoidl «3RaAId

vi. §2ofluefl [Baid

Codes :
(A) i, iii, iv, v (B) i, iii, iv, v
(C) i, ii, iv, vi (D) iii, iv, v, vi
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60. Write the correct sequence of scales of | 60. 2l 20al 23d 25 Al a

measurement from lowest to highest. olAell Guz vl sa ai Nsd.
i. Interval scale i. g2rad Bd
ii. Ordinal scale ii. 2RSlodd W
iii. Nominal scale iii. oo /a
iv. Ratio scale iv. 3RRN W
Codes : Codes :
(A) i, i, i, iv (A) i, i, i, iv
(B) i, i, ii, i B) iv, i, i, il
(C) i, i, i, iv (C) i, ii, i, iv
(D) iii, ii, iv, i (D) iii, ii, iv, i

61. Whichone ofthe followingis anon-negotiable | 61. ofldati #igll 83 Rusidiell Ria-arziene

characteristic of development ? uil diiftaisal 87
(A) Change (A) d“edid
(B) Maturation (B) uRusydi
(C) Stability (C) Reral
(D) Stage-wise progression (D) deissiar waild
62. The latest notions about human 62. Hiodg offg RiAofl aiflal aa
intelligence are captured best by 8E ol 1) gkl A%
Ad Aagar i 209 B,
(A) The g factor (A) 8822 ®
(B) The theory of multiple intelligences (B) ciglua ojftad) fuesid
(C) Primary mental abilities (C) offtere] Malks alals
2AAdIA)
(D) Scores obtained on an IQ test (D) 1Q 2eai AnAd WRA
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63.

64.

65.

Which one of the following is not a
significant contributor of a culturally-
relevant model of early childhood
education in India ?

(A) Girishwar Misra
(B) Gijubhai Badeka
(C) Anutai Wagh

(D) Tarabai Modak

Despite her parents’ disapproval, Tarain
Standard VIl wants to dye her hair pink
because two of her friends have dyed
their hair. This can be explained best as
the influence of

(A) Peer reinforcement and modelling

(B) Her growing need for autonomy

(C) Her desire to be fashionable

(D) Western culture

Which type of care provides short-term
relief to parents who are looking after a
child with special needs ?

(A) Palliative care
(B) Recreational care
(C) Respite care

(D) Rehabilitative care

63. @iRad MRS clioueiel Riziele
irglus 2Acifua N3qai olAatiniell
53 dleuist Aieiol el ?

(A) Pillear e
(B) oMo cidsi

(C) dgdigf dia

(D) drieng aes

dRl ¥ sy aRel di 8, d Ald
Rudiofl 212dIs1d] a1, ddll g1 o
sjetiell 3ol 2dla WiN D SRRIS
deli & (=04 Wldlall gl b1
8. ol wdE s ACE AYs
ueiid o Avs dd AAvd 87

64.

(A) IR 9@ ofl ueia 2id A3

(B) 2aiaddl AR dol geidl wdl
¢3RAld

(C) 3=udoid claidiof]l dofl gl
(D) uP=ual 225

sy MSIdll el v ¥3RAIAN
ERI4dI clinsdl Aciin Avidl
didifuaia gs1 ananai Aea yd
uis 8 °?

(A) GuAs AfcIN

65.

(B) Holivval Aeln
(C) usdofl 2ictin
(D) Yeidoiat oo
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66.

67.

Which one of the following will not be
considered as child labour ?

(A) Kusum, a 12-year-old girl, doing
household work, including care of
siblings

(B) Rehaan, a 17-year-old boy, employed
in a fire-cracker factory

(C) Sarita, an 11-year-old girl, employed
as a domestic worker in two homes

(D) Mohit, a 13-year-old boy, employed
for 12 hours a day in a garage

Identify the statement that is not
aligned with the concept of Positive
Youth Development (PYD).

(A) Youth are viewed as resources to be
developed rather than problems to
be managed

(B) Astrength-based conception, focusing
on understanding what can go right in
the development of young people

(C) The development of both youth and
their ecologies can be optimized

(D) The primary emphasis is on deficit
and risk reduction

66.

67.

oflRActiaiefl 5% ol uyR v
AER T K

(A) Sy As 12 gvofl 81s?] GIY-cidonof)
A6l Albd ug] sl

(B) ls101,17 u¥oll 153, SIAS-352
3s2dlati s 5A) &d)

(C) =Ral,11avel B1sdl & @rai Ry
SIHER ddl3 olisdl sl

(D) Afkd,13 avell 815 Nevai Raai
12 sdis oilsdl s &q).

Wy Y& Saaudee(PYD) ai
viid A1 Asndgoell d fusiioa
Al

(A) Ydielad Ad¥ salcll AH\ARAa
cied fusild sl a2 2Avpi€i0)

a3 Nai 2w B

(B) Ydioell [ysieai gf Aou &y ud
B A AA¥Y U €Ald 3foga sdla
disia igiRd eidetl

(C) Yool al Adell yAlUN! Gidlell
Adlan fusia sdl usig 8

(D) Hv3 GIIR WIE ol NuiA uzal
W2 Aigidld 8
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68.

69.

70.

Which one of the foliowing is less likely
to characterize challenges related to
changing roles and concerns in middle
aduithood ?

(A) Nonlinear career patterns
(B) Elder caregiving

(C) Dementia

(D) Work-life balance

A 75-year-old retired person has had a
successful career, and is a father who
has raised two children to be productive
adults. He is effectively negotiating an
Erikson’s life stage; which one of the
following is his virtue ?

(A) Competency (B) Love
(C) Care (D) Wisdom
In a study using an experimental

research design, 30 children were taught
to enhance their self-esteem and the
other 30 children comprised the control
group. Identify the Independent (IV) and
Dependent Variables (DV).

(A) Group status (experimental vs.
control) as DV and children’s change
scores of self-esteem as IV

(B) Group status (experimental vs.
control) as IV and children’s change
scores of self-esteem as DV

(C) Group status (experimental vs. control)
as DV and children’s post-intervention
scores of self-esteem as IV

(D) Group status (experimental vs. control)
as IV and children’s age as DV

68.

69.

70.

ofldoh Hiell Aui AIEAN Yrdyi
ceciid] eifisiAl vial Ridii 2cifia
ussiRla eafuaiell AsAdr A 32

(A) Rici-3vfl sifsel Ueol
(B) 4slddll Riein
(C) Godile

(D) sid-24d did Aol

As 75 ol Bgd <afdda A0
SR R & ad As Ul B

FHI A cilasle) 6B sdlad Beuies
Jud olodl 8 A iABRS {4

AR Ul DYl U UR dI2I€N) 53]
@D B oflActiaiel s dell 2R 8,
(B) ¥4

(D) f4as

(A) AU
(C) si®

uRIPis RiMaa Bxsigdotal GuAlal
sdla veARvAi 30 ojjnSial aa{ﬂ'
dicHRAoAlol gelRYle] Alluiaaiati
Uiy &g ol Viod 30 GINS)
[erRisier o AA1AA 52 B
2ad=1 (IV) 2ia APd U6

(DV) 2ol

(A) Sldl i3 2y 22 (uinis
4. 82161) 240 Va3 oot
licaAoHlotaii 2891031 FSR
IVadl3 qadfl Rafa (urnfis
Ry fSiini1) 21a DV i clinSeil
ViicHAcdHIol 20T 5§
(C) Sldl ddl yu e (wiAPis
Ri. £2d a1V a3 cliasial

&3dA ugdlall 2 1cHAoH ot
81

(D) x&ofl Rafa (wbis R [w-er)
IV afl3 210 DV dd3 clinsidl Gar

(B)
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71. The following statements relate to
characteristics of a democratic family
environment. Identify the odd one out.

(A) Husband and wife have equal
privileges in decision making

(B) Children’s voice is heard by elders
and there is space for negotiation

(C) Family role division is exclusively
based on gender and age

(D) Family rules and norms are evolved
in a cooperative manner by family

72. Migration and displacement are major
threats to family and child well-being.
Which one of the following is not one of
the objectives of programs that support
these families ?

(A) To ensure continuity in education
and educational opportunities for
displaced children

(B) Identify refugees and help organize
deportation

(C) Prevent, combat and eradicate
human trafficking in the context
of within-border and cross-border
migration

(D) Provide access to essential health
services for migrants

71. olAail [adeoh clswuigl HNolls
diciaeiell cizifeisarl 118 Acifd
8 24 Hie a3y o o) 5A

(A) uld al Ycofl & fetld Auiai
el difusR B

(B) “liaslal Al dsld) sl
Aiciadii 219 B Ja
ARIA HI2 YU B

(C) B)Efis oifusie] Rioiival §Sd
o1 e B2 WR ngidla 8

(D) ggoiotl foiuall 2ial €lReN uRar
s Aes1IA AQ RusAggi 21d B

72. AUNIMR a e gl

Ud clinsdl uiisiFl AR Y

vidd 8. 3l yRaida 25
di S1RIsH0l GE2NAHT oflAatiatiel

sy s ol ?

(A) REifia cdingl a2 Riziel

vid aiflis asiai AldcA
yloPua sal

(B) wReNflla Aav)l 14
ealoisid sNsyaitiAEE 5

(C) Alatioll ViR ol UWE UNRatl
WAidrell Aeoldi oy dasdl
vesidl; Ua dice 5A

(D) WAid SR A2 AIULAS
A2 Aol MElsl 5
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73.

74.

75.

Which one of the following is an incorrect
example of active coping ?

(A) Assertiveness

(B) Accessing help/support
(C) Constructive distraction

(D) Retaliation

Self-disciplined children tend to have
parents who are

(A) Authoritarian
(B) Neglecting
(C) Permissive

(D) Authoritative

The following four statements relate
to the characteristics of single parent
families. Select the one which is not a
characteristic of single parent families.

(A) Single parent families which are
female-headed households are
greater in number across the globe

(B) Men being a single parent is a rare
phenomenon across the giobe

(C) Female-headed single parent
households face a high risk of
being poorer

(D) One can be a single parent out of
choice

73.

74.

75.

ofldeit iell s3 Ay ysicidig
wi§ Geigrel B ?

(A) Sl

(B) Aoy AEE dia 2551 AAIG)
(C) Waticis fuAy

(D) oiec

14- Rizdoig o8 ot aaifudi
gld & W%

(A) uYuicAR/ gungl ddel il

(B) GY21 sdl g0l

(C) ¥igala yar dio

(D) ifuga adel qion

oflActl UR [eo) Rioid Woe
URgidfl arzifaisaid w8
Acifud B, ¥ Ridid Moz YRy
ciaifeisal oefl, d yzie sA.

(A) alkdiNdll Aaacy dinr yRARId
dizellsaid) 218 oita 8. Riag

Vo2 uRaRell Risgerr Hi gaR
vl B

(B) Y3 Asd aAdifuai i A
Ax2 Risqati gder gzonl B

(C) el Agcuaion Asd
Aaifudietl sygai 213l

adle] ANvin W 3

(D) Sighyer Wdiofl w:ieall &l
Asal Aldifuar 8y us 8
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76.

77.

Hospitalized sick children are encouraged
to play with doctor sets comprising toy
stethoscopes and injections, toy glucose
saline bottles and the like. Which one of
the following is not a purpose of such
play ?

(A) Reduce anxiety about medical
procedures

(B) Helpthemto understand their disease
in detail

(C) Familiarize them and make them
comfortable in a hospital environment

(D) Help them play out and express their
feelings related to their iliness

Which one of the following approaches
is best suited to achieve gender equality
in society ?

(A) To focus on fighting for women’s
rights and related activism

(B) To create an environment that
ensures equality of opportunity and
privilege in every sphere irrespective
of gender

(C) To focus on reducing male power

(D) To reframe inheritance and property
laws such that women are less
vulnerable to neglect and exploitation

76.

77.

ARvzdAi evid HiEl GllnSlal WSSI
MBI ial o5l , WSESI 2GS1%
olzd uia doll Fdi 9ise Az Al
W4l 12 Wcanlba sidi 1A B,
idi o128l Wd of &d 53 aefl

ol 2 RuseW aidl uie sA

(A) aoflofl ubA YA Riar a2isdl

(B) da daell dtal RdAadR
AAvqinl Hee sl

(C) aiRvadot dididel &l dad
ylRRid sl dad dg uARMA
erRus Rdf pAvial

(D) Qaefl oflaiidlal a1l daiofl

dieflAld cusd saiAi
daa see sl

AHaivai o Aatioidl &iAd
sl a2 ofidan aiel sA
by Akl Ay 87

(A) e s vial Rdcifud AlA
HIZ dsd R €llol Sloga 5G

(B) Riv1a eanotati dleni dorR €35 Axnaii
ds a fuAuikisRed Aaicididl]
uiiddl 2ud gidiaRe! sleliag

(C) RM At €21sdl U €2Alal
3Gad 5

(D) 4RRAPId i asdal SIIEIRAA
sl YRR« s 3 I
Aol 6221 2ial dolond il
Al
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78. Identify which one of the following “C”s

is false with regard to the process and
outcomes of counselling.

(A) Collaboration  (B) Coping
(C) Compliance (D) Choice

79. Which is false with reference to provision
of good quality early childhood care and
education services ? '

(A) ltis aright of all children as guaranteed
by constitution

(B) ltreduces the vicious cycle of poverty
and underdevelopment

(C) The major focus is on promoting
future academic achievement

(D) It is a means to adequate nutrition
and good health so that the child’s
developmental potential can be realized

80. You have collected data using focus
groups to understand teachers’ and
parents’ perceptions about quality of
Anganwadis at the village level. Which
one of the following is inappropriate for
coding and interpretation of data ?

(A) Using the group as a unit to represent
the data/voice

(B) Employing an inductive approach to
coding and extracting themes

(C) Having the participants review the
themes before finalizing them

(D) Listening to tapes and directly
arriving at coding categories which
saves time

78. 51GeARisiell ubal via uRenal
2dcefi ofldottatie sA “C” vl
8 d Wau.

(A) AsA
(C) Jicol

(B) sl
(D) uRiedfl

79. A1) deianiel ks ciauel

61N via Rz Al
Foraigoll Aeelai 53 viig 82

(A) ciarRel sri diaed]l yvel d
daid clinsial ks B

@) A 2dcfl 2d lusRiddieil gre
Usa 213 8

(©) Hva 3g cifdl azifais
RifgaNa Mcigot vudlg] B

(D) A uald uNRl el AR
AR AiZg, N5 Albiel B.

e cliasdl sl
Adoiigdial AISR 83 USK
80. ad A a2 vidiRIISA 2eigT
R A28 2ia ddifiaian RiuRda
AHwYl AR GlsA xal GUA
sda 321 AsPid AT B oflActiniel]
59 321 85 %ua udued

HZ AAY B

(A) 321/4d1¥d uldfaficy s2dl
2 ol AsH adld GuAa
§4)

(B) Y25 w3 carudla 8ls w4
e ub s2q

(C) deeifiA 4RI Alaal 2ifas 34
Biud! uddl doll 2aflau sl

(D) 2y Aicieflad el Alen 1By
2203 uglA B } AHY oA
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81.

82.

83.

84.

Environmental noise in communication is

(A) Natural barrier
(B) Semantic barrier
(C) Technical barrier

(D) Physical barrier

Problems in getting feedback from
receiver in communication can be due to

(A) Language barrier

(B) Receiver’s economic level

(C) Stable communication process

(D) Homogeneity of receivers

Which of the following are the components
of message ?

(A) Knowledge, attitude, interest

(B) Code, content, treatment

(C) Skills, abilities, aptitude

(D) Intelligence, aptitude and positivity
When an interview schedule contains
many open ended questions with

suggestions for prompts and probes, it
is called

(A)
(B)
(©)

)

Semi structured interview
Structured interview
Indepth interview

(D) Informal interview

81.

82.

83.

84.

AurAi didiazefln e A

(A) gedl 2ue B
(B) ¥YNWd Y B
C) doisid viuAel B

(
(D) alfus 2wy B

Aureni unasdl desell ulaAme
Aangaii AHWAlg SREI
8y A3 8.

(A) eirisly alel

(B) unasdle 2ifis 2d?
() Rer2Aur ubi

(D) Miasdizilofl Aszuai

ofldotiaiel sui 2it2ulcll €28 B?

(A) siot, glesier, W
(g1, fauMl)

(B) 2i3d, Riuauzg, HIYY¥d
(C) Aea, addl, A
(D) ojfter, AdACI, &5LAM S

i AIdNl 2oy 26l
walel 3 ge otsdl sul Miotiol useNHi

GAwetl 3 usikiRNl A2 ollel AHIAY
sdl 8 AR Jq g sBura ?

(A) s Mud dozey
(B) fua go2rey

(C) Gsierydse o2y
(D) ielluuUIRs Pozrey
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85.

86.

87.

88.

In a television format, when programme
focuses directly to the people involved,
it is called

(A) Documentary

(B) lliustrated talk
(C) Actuality
(D) Panel show

Which of the following is principle of
extension ?

(A) Cooperation and participation
(B) Individual involvement
(C) Top-down process

(D) Curriculum based

Advertising campaigns by government
focussing on current issues of concern
to masses is called

(A) Institutional advertising
(B) Classified advertisements
(C) Product advertisements

(D) Public service advertisements

Which method can be used effectively
to teach comparison of two existing
practices ?

(A) Method demonstration
(B) Symposium
(C) Result demonstration

(D) Workshop

85.

86.

87.

88.

Mafisa siisH wAR Aledldld
As50Acl AN Avisell A B AR

dal sdqid B,
(A) edid® uUSR

(B) Alusaid
(C) drdRisar naifed
(D) Vot uexlot

olRattaiefl 52 a6l Ryeslia 8 7

(A) &SR dia eidfllerd]
(B8) afldaid Asiqell
(C) 6uRel oflA dgall ui[bjora

(D) 2tcuaRisdH AHEgdld

AR %1 AS1a daad] Aivd  AH[AIRA
W sudl «idua AA 53R B,

(A) Bl A
(B) daflgd =«Idud
(C) Geuwtgal 13U
(D) «¥132 Ad1 ¥1gAd

QA ueifud Aol wvnael {4y
clengdl a2 s¢ da GuAat i
dg QUSIY ?

(A) veala [oresior

(B) uRxidie
(C) uRena fotesiof
(D) sii=in
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89. Which board is called ‘magic board’ ? 89. sl CiiSal ‘¥igt oIS’ s34 1A & 7

(A) Black board (A) «ds ol

(B) Bulletin board (B) 9@dla oS
(C) Flannel board (C) §Qdd oil$
(D) Magnetic board (D) Yoisla olis

90. Which of the following communicates | 90. oflQcl13iiell Uicll 4121 S ¥ o3 A2l

message at a glance ? AUR Uy 87

(A) Flash cards (A) 5021 sIS (Quial s1S)
(B) Poster (B) WiReR (eflaux)

(C) Map (C) oisaut

(D) Graphs (D) 1dw

91. The foundation of the development is 91. [4sidel uiR) B

(A) Co-ordination | (A) RiSGol
(B) Networking (B) sy olaligg
(C) Communication (C) R4uRr
(D) Homogenization (D) As3uai
92. Which of the following development 92. olAemaiel sl fusii sRisa ARl
program emphasizes employment to aflel AN ARl A¥2AR AHIYal
the unskilled rural poor labourers ? W ek 33 87
(A) TRYSEM (A) TRYSEM
(B) DWCRA (B) DWCRA
(C) MNREGA (C) MNREGA
(D) ICDS (D) ICDS
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93.

94.

95.

96.

Formative evaluation in development
project is carried out

(A) At the end of the project

(B) At various stages of the project
(C) In the beginning of the project
(D) Everyday

Monitoring and evaluation of development
project involves

(A) Participatory approach
(B) Basic need approach

(C) Localised approach
(D

) Selective approach

Behavior change communication has
been most successful in

(A) Changing economic scenario -
(B) Health promotion

(C) Educational upliftment

(D) Cultural change

If you want to conduct extension education
programme in a village, which of the
following segments will be important ?
(A) Private industries

(B) Volunteers

(C) International development agencies

(D) School children

93.

94.

95.

96.

fusi Wseani s silsa
HeAisd sJAIHI 219 B,
A) MIs2ell VicHi

B) MI¥s2cil YEI YEI cAoissIHN3Ai

(
(
(C) uFs2dll uHai
(

D) &R

[usizioll MIFs2oll 42l HIZ Add
a2 Avidig cai  YEAisela Al

sl 5 v B &
(A) eirlledl 2ifbiora

(B) yaed azfeia i1

(C) 2alois Afdid1a
(D) wieal 2nadla il

adetati uRade diaal Aize
AUR AelAsn WY 7

(A) sedidl 21fs uRadetai

(B) 2d12€Y MicAIBoAHI
(C) daiells Geaiolai
(D) 2ikglus uRadaai

¥ dHR suAsiHi razer Rizield)
sidsa AGHT Ysaleal A d)
oflAotiaiiefl sy Y Aecuo] B2

(A) viloidll GoN

(B) wiAus)

(C) siarnda s Avef2)
(D) 2Matal clins)
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97.

98.

99.

100.

Which of the following indices measures
the average condition of various segments
of society ?

(A) GDP
(C) GDI

(B) GEM
(D) HDI

Development and environment are not
(A) Interrelated

(B) Interactive

(C) Complementary
(D) Contradictory

In development research, what acts as
a catalyst in report writing ?

(A) Participatory monitoring and evaluation
records

(B) Previous reports on similar research
(C) Conceptual review of literature

(D) Research trend analysis

Which of the following tests measures the
statistical difference in the two means ?

(A) Chisquare test

(B) t-test

(C) Two way Anova

(D) Spearman’s rank correlation

97.

98.

99.

100.

ofldotl yuciSnie s Aanvmi %l
% Rioitiall AR Rl ary 8.

(A) GDP
(C) GDI

(B) GEM
(D) HDI

oflQet aieh 5121 249 vafae gj o2 2
(A) Asoflyl 241 2Asadal
(B) uruls Ba-ufafka s

(C) dsollvisti Y8
(D) e

fusizi 2igMbaol 218dId @vidiai
U Galks adl3 si 3 D?

(A) AeeiPfl 2vidv 2d ycaAisotdll
oiles

(B) ol 2iMNeololi 24211Goll 2431

(C) AuiRs 2aflan 2uifbcy

(D) *dMectiadld gaee Ri2duer

oflAall ylkzieNaiefl 54 d
AW YRAol) AA18SIBY asidd
Y 87

(A) Al sAR 222
(B) &- 222

)
(C) & Q iallai
(D) RuRAe o) o5 SIRA
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